
    

 Important Update "open the case "
 

1 Install Memory

4 Install Hard Disk Drive (HDD)

1. Stick the mylar gently on the back-
side of the HDD.

1

			 
			 

1 2 43

1. M2.0X6 mm (3x): To fasten the thermal module		
2. M2.5X5mm (10x): To fasten HDD Bracket to Motherboard/Case Hausing/Antenna
3. M3.0X3mm (3x): To fasten HDD to HDD Bracket 
4. M2.5X3mm (2x): To fasten WiFi Card

Plug the pin side of the memory module slantwise into the socket first, then put it 
down firmly as shown in the picture. 

1
2

2 Install WiFi Card
1. Fix the WiFi card with one screw as 
shown in the picture. (M2.5X3mm).

2. Plug the pin side of  the WiFi card slant-
wise into the socket, then put it down gently. 

3. Fasten the WiFi card with one screw 
(M2.5X3mm). 

1. Put the antenna in the hole of the box and 
fasten it to the motherboard with one screw.

2. Connect the other side of antenna 
with the WiFi Card.

3 Install Antenna

2. Put the HDD into the HDD bracket. 

3. Fasten them with three screws 
(M2.5X3mm) as shown in the pictures.    

* Tools Needed 

* Screw Type

4. Plug HDD into the socket on the 
motherboard gently.

5. Fasten the HDD bracket with four screws. Plaese Fas-
ten the screws according to the number shown below. 1. Attach the speaker connector to the speaker 

    header on the motherboard.
2. Place the speaker on the 
motherboard gently.

5 Install Speaker

1.1. Place one side of the case cover which matches antenna slantwise, then gently put the other side      
       down as shown in the picture.

1. Install the Case

6 Install Case and Connect Antenna

1.2. Fasten the case with four screws (M2.5X3mm) .

2

1

1.3. Stick the screw cover with a plastic forceps on 
the four screws as shown in the pictures.

screw cover

All images are for reference only, please refer to 
the physical netbox for detail.

P/N: 3A250WQ00-GAE-G

* Open The Case

1. Unscrew four screws on the case (M2.5X3mm). 2. Put a thin knife in the quarter of the case and 
unclench it gently as shown in the picture.

3. Move the knife to the other side of the 
case as shown in the picture below.

4.  Along the space glide the other sides of the case and take off the 
bottom case as shown in the pictures below.. 

5. Turn the netbook as clockwise, then 
open the case as shown in the picture.

MarkChen
Highlight



简体中文
�

繁體中文

Türkçe

PortuguêsItaliano

PyccКий

Magyar

Polski

Français

Español

Deutsch

 日本語 한국어

2. Connect the Antenna
Fix the antenna to the corresponding location of the NETBOX as shown in the picture.

Antenna

メモリの取り付け
最初にメモリモジュールのピン側を斜めにソケットに差し込み、そして、それをしっか
りと下に置きます。

WiFi カードの取り付け
1. WiFiカードに1本のネジ(M2.5X3mm)を取り付けます。
2. WiFiカードのピン側を斜めにソケットに差し込み、やさしくそれを下に置きます。
3. WiFiカードを1本のネジ(M2.5X3mm)で固定します。

アンテナの取り付け
1.　アンテナをボックスのホールに置いて、1本のネジ（M2.5X3mm）でマザーボード  
に固定します。
2. アンテナの反対側をWiFiカードに接続します。

ハードディスクドライブ（HDD）の取り付け
1. マイラーをやさしくHDDの後部に張り付けます。
2. HDDをHDDブラケットに入れます。
3. それらを3本のネジ（M2.5X3mm）で固定します。   
4. HDDをやさしくマザーボード上のソケットに差し込みます。
5. 4本のネジ（M2.5x5mm）で、HDDブラケットをマザーボードに固定します。写真
で示す順序に従ってネジを 取り付けてください。

スピーカーの取り付け
1.スピーカーコネクタをマザーボード上のスピーカーヘッダに取り付けます。
2.スピーカーをやさしくマザーボードに置きます。

ケースの取り付け及びアンテナの接続
1.ケースの取り付け
1.1. ケースカバーの片側を斜めにケースに入れて、反対側をやさしく押し込みま
す。
1.2. 4本のネジ(M2.5X3mm)でケースを固定します。
1.3. 4本のネジの上にプラスチック鉗子でベーストレイを張り付けます。
2.アンテナの接続
アンテナをNETBOXの対応する位置にねじ込みます。

메모리 설치
아래 그림과 같이 메모리 모듈을 소켓에 기울어져 둔 다음 메모리를 단단히 놓

습니다. 

WiFi 카드 설치
1. 아래 그림과 같이 WiFi 카드를 하나의 나사(M2.5X3mm)로 고정시킵니다.

2. WiFi 카드를 소켓에 기울어져 둔 다음 서서히 WiFi 카드를 놓습니다.

3. 하나의 나사(M2.5X3mm)로 WiFi 카드를 잠급니다.

안테나 설치
1. 안테나를 박스의 구멍에 놓고 하나의 나사(M2.5X3mm)로 마더보드와 함께 

잠급니다.

2. 안테나의 다른 쪽을 WiFi 카드와 연결합니다. 

하드 디스크 드라이브(HDD) 설치
1. 마일라를 HDD 브라켓 후면에 붙입니다.

2. HDD를 HDD 브라켓에 넣습니다. 

3. 아래 그림과 같이 세 개의 나사(M2.5X3mm)로 HDD를 HDD 브라켓과 함께 

잠급니다.

4. HDD를 마더보드에 있는 소켓에 서서히 놓습니다.

5. 아래 그림과 같은 표시된 순서 따라 네 개의 나사(M2.5x5mm)로 HDD 브라

켓을 마더보드와 함께 잠급니다.
 
스피커 설치
1. 스피커 커넷터를 마더보드에 있는 스피커 헤더와 연결합니다.

2. 서서히 스피커를 마더보드에 고정시킵니다.

케이스 설치 및 안테나 연결
1. 케이스 설치 

1.1 아래 그림과 같이 케이스의 한쪽을 안테나에 맞춰 다른 쪽을 서서히 내려

넣습니다.

1.2 네 개의 나사(M2.5X3mm)로 케이스를 잠급니다.

1.3 아래 그림과 같이 플라스틱 포셉을 사용하여 4 개의 기부 트레이를 나사 위

에 붙입니다.

2. 안테나 연결

아래 그림과 같이 안테나를 NETBOX의 해당 자리에 연결합니다. 

Speicher installieren
Setzen Sie die Pinseite des Speichermoduls schräg in den Sockel ein, dann 
drücken Sie es fest wie in der Abbildung gezeigt hinab. 

WiFi-Karte installieren
1. Fixieren Sie die WiFi-Karte mit einer Schraube (M2.5X3mm) wie in der Ab-
bildung gezeigt.
2. Setzen Sie die Pinseite der WiFi-Karte schräg in den Sockel ein und drücken 
Sie sie sanft hinab.
3. Befestigen Sie die WiFi-Karte mit einer Schraube (M2.5X3mm) am Mother-
board.

Antenne installieren
1. Setzen Sie die Antenne in das Loch des Gehäuses wie in der Abbildung 
gezeigt ein und befestigen Sie sie mit einer Schraube (M2.5X3mm) am Mother-
board.
2. Schließen Sie die andere Seite der Antenne an die WiFi-Karte an.

Diskettenlaufwerk(HDD) installieren
1. Kleben Sie das Mylar sanft an der Rückseite der Festplatte(HDD) an.
2. Setzen Sie die Festplatte in die HDD-Halterung ein.
3. Befestigen Sie sie mit drei Schrauben(M2.5X3mm) wie in der Abbildung 
gezeigt.
4. Setzen Sie die Pinseite der Festplatte schräg in den Sockel ein, dann drücken 
Sie sie
sanft hinab, wie in der Abbildung gezeigt.
5. Befestigen Sie die HDD-Halterung mit vier Schrauben(M2.5x5mm ) ord-
nungsmäßig am Motherboard wie in der Abbildung gezeigt. 

Lautsprecher installieren
1. Verbinden Sie den Lautsprecherstecker mit dem Lautsprecheranschluss auf 
dem Motherboard.
2. Setzen Sie den Lautsprecher sanft am Motherboard ein.

Gehäuse installieren und Antenne anschließen
1. Gehäuse installieren
1.1 Platzieren Sie eine Seite der Oberedecke schräg in die Gehäuse, dann 
drücken Sie die andere Seite wie in der Abbildung gezeigt hinab
1.2 Befestigen Sie das Gehäuse mit vier Schrauben(M2.5X3mm).
1.3 Kleben Sie das Basy-Tray(Füße) mit einer Pinzette an die vier Schrauben wie 
in der Abbildung gezeigt an.  
2. Antenne anschließen
Fixieren Sie die Antenne an der entsprechenden Stelle des Motherboards wie in 
der Abbildung gezeigt.

Instalación de Memoria
Conecte el lado de los pines del módulo de memoria al sesgo en la ranura primero y luego 
presiónelo firmemente hacia abajo como se muestra en la configuración.

Instalación de la Tarjeta WiFi
1. Fija la tarjeta WiFi con un tornillo como se muestra en la configuración (M2.5X3mm).
2. Conecta el lado de los pines de la tarjeta WiFi al sesgo en la ranura y luego presiónela con 
suavidad hacia abajo. 
3. Fija la tarjeta WiFi con un tornillo (M2.5X3mm).

Instalación de Antena
1. Ponga la antena en el puerto de la caja y fijala a la placa base con un tornillo (M2.5X3mm).
2. Conecta otro extremo de la antena a la tarjeta WiFi.

Instalación de Disco Duro (DD)
1. Pega la mylar con suavidad en la parte trasera del disco duro.
2. Ponga el disco duro en el soporte del mismo. 
3. Fijalo con tres tornillos (M2.5X3mm) como se muestra en la configuración.
4. Conecta el disco duro en la ranura de la placa base suavemente.

5. Fija el soporte de disco duro a la placa base con cuatro tornillos 
(M2.5x5mm). El orden de la fijación de los tornillos de acuerdo al 
número mostrado en la configuración. 

Instalación de Altavoz
1. Conecte el conector de altavoz al cabezal del mismo de la placa base
2. Ponga el altavoz en la placa base con suavidad. 

Instalación de la Cubierta y Conexión de Antena
1. Instalación de la Cubierta
1.1. Coloca un lado de la cubierta al sesgo, y después presione otro lado hacia abajo 
como se muestra en la configuración.
1.2. Fija la cubierta con cuatro tornillos (M2.5X3mm).
1.3. Pega las bases con una pinza plastica en los cuatro tornillos como se muestra en 
la configuración.
2. Conexión de Antena
Fija la antena al lugar corresponiente de la NETBOX como se muestra en la configu-
ración. 

Installer de la mémoire
Enfichez d’abord le côté broches de la barrette de mémoire de biais 
dans le socket, puis enfoncez-la fermement comme indiqué sur 
l’image.

Installer la carte WiFi
1. Fixer la carte WiFi avec une vis comme indiqué sur l’image. 
(M2.5X3mm).
2. Enfichez le côté broches de la carte WiFi de biais dans le socket, 
puis enfoncez-la doucement.
3. Fixez la carte WiFi avec une vis (M2.5X3mm). 

Installer une antenne
1. Placez l’antenne dans le trou de la boîte et fixez-la sur la carte mère 
avec une vis (M2.5X3mm).
2. Branchez l’autre côté de l’antenne sur la carte WiFi.

Installer un disque dur (HDD)
1. Collez le mylar doucement sur l’arrière du disque dur.
2. Placez le disque dur dans le support de disque dur. 
3. Fixez-les avec trois vis (M2.5X3mm) comme indiqué sur les photos.    
4. Connectez doucement le disque dur sur le socket de la carte mère.
5. Fixez le support du disque dur sur la carte mère avec quatre vis 
(M2.5x5mm). L’ordre des vis de fixation est indiqué par un numéro sur 
l’image.

Installez le haut-parleur
1. Fixez le connecteur du haut-parleur sur les bornes Haut-parleur 
(Speaker) de la carte mère.
2. Placez doucement le haut-parleur sur la carte mère.

Installer le boîtier et brancher l’antenne
1. Installer le boîtier
1.1. Placez un côté du capot du boîtier de biais, puis baissez douce-
ment l’autre côté vers le bas, comme indiqué sur l’image.
1.2. Fixez le boîtier avec les quatre vis (M2.5X3mm).
1.3. Collez plateau de base avec une pince en plastique sur les quatre 
vis comme indiqué sur les photos.
2. Connectez l’antenne
Fixez l’antenne sur l’emplacement correspondant de la NETBOX 
comme indiqué sur l’image.

Belleği Kurun
İlk önce bellek modülünün pin tarafını eğimli bir şekilde sokete takın, 
daha sonra resimde gösterildiği gibi güçlü bir şekilde aşağı bastırın.

WiFi Kartını Kurun
1. Resimde gösterildiği gibi WiFi kartını bir vida ile yerine takın. 
(M2.5X3mm).
2. WiFi kartının pin tarafını eğimli bir şekilde sokete takın, daha sonra 
hafifçe bastırın.
3. WiFi kartını bir adet vida ile takın (M2.5X3mm). 

Anteni Kurun
1. Anteni kutunun deliğine yerleştirin ve ana karta bir vida ile bağlayın. 
(M2.5X3mm).
2. Antenin diğer tarafını WiFi kartına bağlayın.
Sabit Disk Sürücüyü Kurun (HDD)
1. Myları HDD’nin arka tarafına yavaşça yapıştırın.
2. HDD’yi HDD bağlantısına yerleştirin. 
3. Resimde gösterildiği gibi üç adet vida ile (M2.5X3mm) bağlayın.    
4. HDD’yi ana kart üzerindeki sokete yavaşça takın.
5. HDD bağlantısını ana karta dört adet vidayla bağlayın (M2.5x5mm). 
Vida takma düzeni resimde gösterilen sayıya göredir. 

Hoparlörü Kurun
1. Hoparlör konektörünü ana karttaki hoparlör bağlantısına takın.
2. Hoparlörü ana kartta yavaşça yerleştirin.

Kasayı kurun ve Anteni bağlayın
1. Kasayı kurun
1.1. Kasa kapağının bir tarafını eğimli bir şekilde takın, diğer tarafını 
resimde gösterildiği gibi aşağıya yavaşça yerleştirin.
1.2. Kasayı dört adet vida ile bağlayın (M2.5X3mm).
1.3. Alt tepsiyi dört adet vida üzerine plastik penslerle resimde 
gösterildiği gibi yapıştırın.
2. Anteni bağlayın
Anteni resimde gösterildiği gibi NETBOX ilgili yere takın.

Installazione della memoria
Prima inserire il lato con i pin del modulo di memoria nell’alloggio, poi 
premerlo con fermezza, come mostrato nell’immagine.

Installazione della scheda WiFi
1. Fissare la scheda WiFi con una vite, come mostrato nell’immagine. 
(M 2,5 x 3 mm)
2. Inserire il lato con i pin della scheda WiFi diagonalmente 
nell’alloggio, poi premere con delicatezza.
3. Fissare la scheda WiFi con una vite (M 2,5x3 mm). 

Installazione dell’antenna
1. Inserire l’antenna nel foro del modulo e fissarla alla scheda madre 
con una vite (M 2,5 x 3 mm).
2. Collegare l’altra estremità dell’antenna alla scheda WiFi.

Installazione dell’unità disco rigido (HDD)
1. Attaccare delicatamente il mylar alla parte posteriore dell’unità HDD.
2. Collocare l’unità HDD sulla staffa HDD. 
3. Fissare con tre viti (M 2,5 x 3 mm), come mostrato nell’immagine.    
4. Inserire delicatamente l’unità HDD nell’alloggio della scheda madre.
5. Fissare la staffa HDD alla scheda madre usando quattro viti (M 2,5 
x 5 mm). Stringere le viti seguendo la sequenza numerica mostrata 
nell’immagine.

Installazione delle casse
1. Collegare il connettore delle casse al collettore casse sulla scheda 
madre.
2. Collocare le casse delicatamente sulla scheda madre.

Installazione del case e collegamento dell’antenna
1. Installazione del case
1.1. Disporre diagonalmente un lato della copertura del case, poi ab-
bassare delicatamente l’atro lato, come mostrati nell’immagine.
1.2. Fissare il case con quattro viti (M 2,5 x 3 mm).
1.3. Fissare la base con una molletta di plastica sulle quattro viti, come 
mostrato nelle immagini.
2. Collegamento dell’antenna
Fissare l’antenna sulla posizione corrispondente della NETBOX, come 
mostrato nell’immagine.

Instalar a memória
Em primeiro lugar, ligue o lado do pino do módulo da memória de 
forma oblíqua à tomada e posteriormente pouse-a firmemente, tal 
como ilustrado na imagem.

Instalar o cartão WiFi
1. Fixe o cartão WiFi com um parafuso, tal como ilustrado na imagem. 
(M2,5x3 mm).
2. Ligue o lado do pino do cartão WiFi de forma oblíqua e depois 
pouse-o suavemente.
3. Aperte o cartão WiFi com um parafuso (M2,5x3 mm). 

Instalar a antena
1. Coloque a antena na perfuração da caixa e aperte-a à placa princi-
pal com um parafuso (M2,5x3 mm).
2. Ligue o outro lado da antena ao cartão WiFi.

Instalar a unidade de disco rígido (HDD)
1. Cole suavemente o mylar na parte posterior da HDD.
2. Coloque a HDD no seu suporte. 
3. Aperte-a com três parafusos (M2,5x3 mm), tal como ilustrado nas 
imagens.    
4. Ligue a HDD suavemente à tomada da placa principal.
5. Aperte o suporte da HDD à placa principal com quarto parafusos 
(M2,5x5 mm). Aperte os parafusos de acordo com a ordem ilustrada
na imagem.

Instalar o altifalante
1. Ligue o conector do altifalante ao suporte do altifalante existente na 
placa principal.
2. Coloque o altifalante suavemente na placa principal.

Instalar a caixa e ligar a antena
1. Instale a caixa
1.1. Coloque um lado da tampa da caixa de forma oblíqua e posterior-
mente pouse suavemente o outro lado, tal como ilustrado na imagem.
1.2. Aperte a caixa com quatro parafusos (M2,5x3 mm).
1.3. Cole o tabuleiro de base com pinças plásticas nos quatro parafu-
sos, tal como ilustrado nas imagens.
2. Ligue a antena
Fixe a antena à localização correspondente na NETBOX, tal como 
ilustrado na imagem.

Установка памяти
Косо вставите металлическую сторону модули памяти в гнездо, 
затем положите его стабильно, как показано на иллюстрации.

Установка карты WiFi
1. Соедините карту WiFi с помощью винта как показано на 
иллюстрации. (M2.5X3mm).
2. Косо вставите металлическую сторону карты WiFi в гнездо, 
затем положите его осторожно.
3. Укрепите карты WiFi одним винтом (M2.5X3mm).

Установка антенны
1. Поставите антенну в отверстие на коробке и укрепите её к 
материнской плате одним винтом (M2.5X3mm).
2. Соедините другую сторону антенны с картой WiFi.

Установка жесткого диска (HDD)
1. Наклеите майлар осторожно на задную сторону жеского диска.
2. Положите жеский диск в контейнер для жеского диска.
3. Укрепите их тремя винтами (M2.5X3mm) как показано на 
иллюстрации.
4. Осторожно вставите жеский диск в гнездо расположенное на 
материнской плате.
5. Укрепите контейнер для жеского диска к материнской плате 
с помощью четырёх винтов (M2.5x5mm ). Порядка укрепления 
винтов должна быть в соответствии с номерами указанными на 
иллюстрации.

Установка динамика
1. Соедините динамик с разъёмом для динамика расположенным 
на материнской плате.
2. Положите динамик в материнской плате осторожно.

Установка покрышки и соединение антенны
1. Установка покрышки
1.1. Косо вставите одну сторону покрышки, затем положите другую 
сторону осторожно как показано на исллюстрации.
1.2. Укрепите покрышку четырьмя винтами (M2.5X3mm).
1.3. Наклеите основания с помощью пластиковых щипчиков на 
винты как показано на иллюстрации.
2. Соединение антенны
Укрепите антенну к соответствующему положению  NETBOX как 
показано на иллюстрации.

Instalacja pamięci
Włóż najpierw moduł pamięci stroną ze stykami skośnie do gniazda, a 
następnie naciśnij go mocno w dół, tak jak pokazano na ilustracji.

Instalacja karty WiFi
1. Zamocuj kartę WiFi jedną śrubą, tak jak pokazano na ilustracji. 
(M2,5 X 3mm).
2. Włóż kartę WiFi stroną ze stykami ukośnie do gniazda, a następnie 
delikatnie naciśnij w dół.
3. Zamocuj kartę WiFi jedną śrubą (M2,5 X 3mm). 

Instalacja anteny
1. Włóż antenę do otworu w obudowie i przykręć do płyty głównej 
jedną śrubą (M2,5 X 3mm).
2. Podłącz drugi koniec anteny do karty WiFi.

Instalacja dysku twardego (HDD)
1. Przyklej delikatnie taśmę mylar z tyłu dysku twardego.
2. Włóż HDD do wspornika HDD. 
3. Przymocuj trzema śrubami (M2,5 X 3mm), tak jak pokazano na 
ilustracji.    
4. Włóż ostrożnie HDD do gniazda na płycie głównej.
5. Zamocuj wspornik HDD do płyty głównej czterema śrubami (M 
2,5x5mm). Kolejność przykręcania śrub, według numeracji pokazanej 
na ilustracji.

Instalacja głośnika
1. Podłącz złącze głośnika do gniazda głośnika na płycie głównej.
2. Ustaw ostrożnie głośnik na płycie głównej.

Instalacja obudowy i podłaczenie anteny
1. Instalacja obudowy
1.1. Ustaw ukośnie jeden bok obudowy, a następnie włóż drugi bok, w 
sposób pokazany na ilustracji.
1.2. Przymocuj obudowę czterema śrubami (M2,5 X 3mm).
1.3. Zamocuj tacę podstawy z plastykowymi zaczepami na czterech 
śrubach, w sposób pokazany na ilustracjach.
2. Podłączenie anteny
Zamocuj antenę w odpowiednim miejscu na NETBOX głównej, w 
sposób pokazany na ilustracji. 

Memória beszerelése
Illessze a memóriamodult ferdén a foglalatba úgy hogy az érintkezők lefelé nézzenek, majd 
az ábrán látható módon nyomja be erősen a foglalatba.

WiFi kártya beszerelése
1. Rögzítse a WiFi kártyát egy csavarral az alábbi ábrán látható módon. (M2,5 X 3 mm).
2. Illessze a WiFi kártyát ferdén a foglalatba úgy hogy az érintkezők lefelé nézzenek, majd 
óvatosan nyomja be a foglalatba.
3. Rögzítse a WiFi kártyát egy csavarral (M2,5 X 3 mm). 

Antenna felszerelése
1. Illessze az antennát a dobozon lévő lyukba, majd rögzítse az alaplaphoz egy csavarral 
(M2,5 X 3 mm).
2. Csatlakoztassa az antenna másik végét a WiFI kártyához.

Merevlemez-meghajtó (HDD) beszerelése
1. Ragassza óvatosan a mylar-fóliát a HDD hátoldalára.
2. Helyezze be a HDD-t a HDD-keretbe. 
3. Rögzítse három csavarral (M2,5 X 3 mm) az alábbi ábrákon látható módon. 

4. Óvatosan csatlakoztassa a HDD csatlakozóját az alaplapon lévő 
aljzathoz.
5. Rögzítse a HDD-keretet az alaplaphoz négy csavarral (M2,5 X 5 mm). 
A csavarokat az ábrán látható sorrendben csavarja be és húzza meg.

Hangszóró beszerelése
1. Csatlakoztassa a hangszóró csatlakozóját az alaplap hangszóró-aljzatához.
2. Óvatosan helyezze a hangszórót az alaplapra.

A burkolat felhelyezése és az antenna csatlakoztatása
1. A burkolat felhelyezése
1.1. Az ábrán látható módon fektesse a fedőlap egyik végét ferdén a házra, majd óvatosan 
hajtsa le a másik végét.
1.2. Rögzítse a burkolatot kártyát négy csavarral (M2,5 X 3 mm).
1.3. Műanyag csipesszel ragassza a tálcát a négy csavarra, az ábrák szerinti módon.
2. Az antenna csatlakoztatása
Rögzítse az antennát az NETBOX megfelelő területére, az ábrán látható módon.

安装内存
如图所示，先将内存条倾斜的插入插槽内，再用手指向下按压内存条，

使其固定。

安装WiFi卡
1 如图所示，将支架和WiFi卡用一颗螺丝(M2.5X3mm)固定在一起。

2 先将WiFi卡倾斜的插入主板上的插槽内，然后再将其轻轻放下。

3 将WiFi卡用一颗螺丝(M2.5X3mm)锁定在主板上。

安装触角天线
1 将天线的一端放入NETBOX的天线孔内并用一颗螺丝(M2.5X3mm)将
其锁定在主板上。

2 将天线的另一端连接到WiFi卡上。

安装硬盘 (HDD)
1 将迈拉片轻轻的贴在硬盘支架的背面。

2 将硬盘放入硬盘支架内。

3 如图所示，用三颗螺丝(M2.5X3mm)将其锁定。

4 将硬盘倾斜的放置在硬盘卡槽上，并对准螺丝孔位。

5 如图所示，按编号顺序将硬盘用四颗螺丝(M2.5x5mm)锁定在主板上。

安装Speaker
1 将Speaker的插头连接到主板上的header上。

2 将Speaker安装到主板的正确位置上。

安装NETBOX 的上盖并连接外接天线
1. 安装NETBOX 的上盖
1.1 如图所示，将上盖的天线缺口一端对准天线，并倾斜着轻轻将其放
下。
1.2 将上盖用四颗螺丝(M2.5X3mm)锁定。
1.3. 如图所示，将四颗螺丝孔用四个螺丝孔贴纸盖住。
2. 连接外接天线
如图所示，将触角天线连接在NETBOX上。

安裝記憶體
如圖所示，先將記憶體條傾斜的插入插槽內，再用手指向下按壓記憶體
條，使其固定。

安裝WiFi卡
1 如圖所示，將支架和WiFi卡用一顆螺絲(M2.5X3mm)固定在一起。
2 先將WiFi卡傾斜的插入主板上的插槽內，然後再將其輕輕放下。
3 將WiFi卡用一顆螺絲(M2.5X3mm)鎖定在主板上。

安裝觸角天線
1 將天線的一端放入NETBOX的天線孔內並用一顆螺絲(M2.5X3mm)將
其鎖定在主板上。
2 將天線的另一端連接到WiFi卡上。

安裝硬碟 (HDD)
1 將邁拉­片輕輕的貼在硬碟支架的背面。
2 將硬碟放入硬碟支架內。
3 如圖所示，用三顆螺絲(M2.5X3mm)將其鎖定。
4 將硬碟傾斜的放置在硬碟卡槽上，並對準螺絲孔位。
5 如圖所示，按編號順序將硬碟用四顆螺絲(M2.5x5mm)鎖定在主板上。

安裝Speaker
1 將Speaker的插頭連接到主板上的接頭上。
2 將Speaker安裝到主板的正確位置上。

安裝NETBOX 的上蓋並連接外接天線
1 安裝NETBOX 的上蓋
1.1 如圖所示，將上蓋的天線缺口一端對準天線，並傾斜著輕輕將其放
下。
1.2 將上蓋用四顆螺絲(M2.5X3mm)鎖定。
1.3 如圖所示，將四顆螺絲孔用四個螺絲孔貼紙蓋住。
2 連接外接天線
如圖所示，將觸角天線連接在NETBOX上。

تركيب وحدة الذاكرة 
سد دبوس الجانب من وحدة الذاكرة بشكل إلي المقبس الذاكرة بميل أولا ،ثم ضغها بثنات كما 

هو في الصورة.

WiFi تركيب بضاقة
)M2.5*3mm(.بلولب واحد كما هو في الصورة WiFi 1- يصلح بضاقة

2- سد دبوس الجانب من بضاقة WiFi مع ضعها في المقبس بميل ، ثم ضعها برفق.
)M2.5*3mm(.بلولب واحد WiFi 3- ثبت بضاقة

تركيب هوائي
. )M2.5*3mm( 1- ضع هوائي في ثقب من العلبة مع ثبت هوائي إلي اللوحة الأم بلولب واحد

.WiFi  2- تربيط رأس الهوائي آخر مع بضاقة

)HDD( تركيب محرك الأقراص ثابت
1- لصق mylar بمحرك الأقراص ثابت الحلفية برفق.

2- ضع محرك الأقراص ثابت في الفئة المحرك تلأقراص ثابت. 
)M2.5*3mm( كما هو في الصورة. 3- ثبتهم بثلاثة لوالب

4- سد محرك الأقراص ثابت إلي المنفذ من اللوحة الأم برفق. 
5- ثبت محرك الأقراص ثابت من اللوحة الأم بأربعة لوالب )M2.5*5mm(. ترتيب لولت 

إبزيم وفقا لعدد مبين كما هو في الصورة.

تركيب السماعة 
1- وصل موصل السماعة بطرف السماعة على اللوحة الأم.

2- ضع السماعة في اللوحة الأم برفق.

تركيب علبة و تربيط هوائي 
1- تركيب علبة 

1.1- ضع جانب واحد من العلبة بميل ثم ضع علي الجانب الآحر إلي أسفل كما هو في الصورة.
)M2.5*3mm(.1.2- ثبت علبة بأربعة لوالب

1.3- لصق base tray مع ملقط من البلاستيك على أربعة لوالب كما هو موضح في الصور.
2- تربيط هوائي  

يصلح هوائي في مكان متطابق من NOT BOX كما هو الصورة.


